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wonder why the office is still not open.Woman(] But it’ s not yet
eight. In fact, it’ s only a quarter to eightquestionJ At what time
does the office open?Al] At 8:30BL1 At8:15CL At 8:0000 1 O C. I
[J O www.100test.com1 Why didn’ t the woman accept the
invitation?AL] She’ s taking an exam on Friday.BL] She has to study
on Friday.CL] She doesn’ tenjoy tours on Friday. 2L1 What did the
man make on the exam?ALl 95BL1 75C[J 85 31 What does the man
think about his new roommate?ALl He is present too often.BL1 He
doesn’ tlike him.CL] He is not present frequently enough.40 Why
does the woman think that Johnson might be on a diet?’AlL] He looks
like he’ s lost weight.BLJ He is thinner. O [J [ www.100test.comC
[J He doesn’ teat much.5C1 What does the woman believe?A

[1 Sally has forgotten her.BLJ Sally doesn’ t understand her.C

[ Sally isn’ tsatisfied withher.OO O O 0O 0150 0 O 0O O 1.50 O
Joz250000050000000000000000d
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1 670 O 60J Where is Tom now working?ALl In a new factory.B
[ In the same factory with Lee.CL In a bookstore. [1 [

[ www.100test.com7] What did Lee ask Tom to do?ALl To visita
friend just from the USA.BU To call at her house and have dinner
with her family.C To have dinner in a restaurant. L [ [ O O [
(1 O 00 81000 801 What are the couple doing?ALl Preparing to go to
drinks of a neighbour.BL1 Quarrelling about clothes CL1 Talking
about what to wear in summer. 91 Do you think the man wants to
wear his spare coat?’AL] Probably not.BL] Yes, he will (I [

[ www.100test.comCLI Yes, he will wear it to go with his hat.10

[J What is the woman going to wear?Al] A hat to go with the blue
dress.BLJ A sports coat.C[] A sports coat to go with a hat.[J [0 [ [
0 00 0O 0111300 110 What is Mary going to do?AlLl Help her
father at the store. BLI Go with Peter.CL] Visit John’ s parents.12
[1 What is Peter going to do? ALJ Stay in the city.BL Visit his parents
C0 Go campingl30L] What time of the year is it?AL] SpringB

O SummerCLO Autumn O 0O 0O 0O O 0O O 0O 14160 140 What
salary does the company pay the first year?AL]l $ 15,000B0] $
13,500C01 $ 10,5001500 Who is the woman most probably?ALl The
man’ swife 0 OJ [0 www.100test.comBL] The manager of the
company.C The man’ steacher.16L] How many people are
asking for the job?Al TwoBU FourC Seven O 0 O 0O O O O



[1 172000 1700 What caused Robert Edwards’ blindness?’AL] He
was struck by lightening.BLJ He had a car accident.CL] He fell down
In his yard. [ O [0 www.100test.com18L1 What was the first thing
that he saw after being struck by lightening?AL] His wife YCYBL A
clockCO A tree190] What was Edwards doing when he was struck
by lightening?Al] Hiding under a tree.BLJ Entering the house.C

[J Driving a car.200] What caused Edwards to regain his sight
according to one of the doctors? ALl A fall from the tree.BLI The
unexpected return of his wife.CLJ Another heavy blow. 100Test [
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